Adv Alg

Match the graph to the equation by writing the letter of the equation under the graph.

TRANSFORMATONS & GRAPHS

Pd

10

. g(x)=Y%(x-2)?-5

h(x)=-Y%lx-1]+2

) =—x

k(x) =-4|x- 1|+ 2

m(x) = 6(x - 2)2-5

n(x) = —2x

. p(x) = =Yax

. q(x) = Yafx-1| + 2



For each function, state the parent function and describe the transformations. Then graph each parent
function and the transformed function on the same graph

1. gx)= -33x—-2 Parent function is f{x)=

Transformations

2. h(x) = %(x + 2)? — 4 Parent function is f{x)=

Transformations




3. jx) =—4|x|+2 Parent function is f{x)=

Transformations

4. k(x) = —2/—x—-2 Parent function is f{x)=

Transformations




5 px) = %(x —4)3 Parent function is f{x)=

Transformations

6. q(x) =—4vx+2+1 Parent function is f{x)=

Transformations




